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Unit Conversion Table (B E K)
Units of Length (4& B 8 {3i) Units of Area(E#244i) Units of Volume ({578 &#.4i)
1in =25.4 mm 1in? =6.45 cm? 1 litre =0.001 me
11t =0.3048 m 1ft2 =0.093 m? 1 cu.ft. =0.0283 m?
1 mile =1609.3 m 1 cu.in. =16.39 cm?
1 micron =10"° m Units of Pressure(JE 73 8.4) 1 gal(imp) =4.546 L
- 1 gal(us) =3.79 L
Units of Mass(/& & 5${3) Tpsi =6.89 kPa 1 fluid oz.(imp) =28.41 mL
1 kgfiem? =98.07 kPa 1 fluid oz.(us)  =29.57 mL
1lb =453.6 g 1 bar =100 kPa
1 cwt =50.8 kg 1 bar =145 Psi A
1 ton(imp) =1016 kg 1 atmosphere  =98.1 kPa suloo Force(ﬂiﬁ)
1 ton(us) =907.2 kg 1”(STANDRD) =101.33 kPa 1 Ibf =4.45 N
1 tonne =1000 kg 1 cm water =97.89 Pa 1 kgof =9.81 N
1in water =248.64 Pa 1 kp(kilopond) =9.81 N
Units of Moment(ﬂﬁﬁiﬁi) 1 mm mercury =133.3 pa 1 poundal =138.3 mN
- 1in mercury =3.39 kPa 1 ton force =9.964 kM
Tinlb =0.113 Nm 1 Torr =133.3 Pa
1 Lt;bm f;-ggg m 1 ft water =0.0298 bar Units of Power (Work/Time) (3 % £ 4 (34 /&)
=9 1 bar =33.33 ft water
1 ftpoundal =0.0421 Nm 1 Ibft/sec =1.356 w
B &p = 1 kgm/sec =9.807 W
Temperature Conversion Table(i & & {i) Units of WorkI(RE& #.4) 1 Nm/sec =1 w
1 Ibft =1.356 J 1 Joule/sec =1 W
(F-32) x 5/9 =:g 1Nm -1 J 1HP.(mp)  =745.7 w
Ke273.15 = 1 Kgm =9.807 J
Flow Volume(i}ﬁg) 1 kWrhr =3.6 MJ Units(iﬁ) Abe‘EVIatlon(iﬁE)
Pascal Pa
CV Value= Water Flow Volume: 1 US Gal/min at 60° F & Pressure Differential 1 Psi.(Cv x 1000sl/min) Newton N
CV Value(ff) =7kifi & ( US Gal/min)60° F~, &z EA1Psiz @i ImATSH Z e E . metre m
Kv Value= Water Flow Volume: L/min at 20C & Pressure Differential 1kgficm?. litre L
Kv Value(f&) =7kifi& ( Umin)it20° CT, REZEENH1kglem?’Z @I MR H Z REEE. watt W
Kv Value= Air Flow Volume: m_a/min at20C & Pressure Diﬁerentia[1kqf/cm % B ‘l]lc!;e&/;léon metre N Jm
Kv value(ff) ==SHE (cm’min)it20°CT, RAEEENH1kgtem Z @M EH Z REEE. Megajoule MJ
S.T.P=Temp.: 0C, Absolute Pressure: 101.3kPa. °Kelvin K

ST.P=tRfEiRERES (0°CR101.3kPadaxt/E 71 )

N.T.P=Temp.: 20°C, Absolute Pressure: 101.3kPa.
N.T.P=IE&RERES (20°CR101.3kPaZaxtEH 71 )

M.S.C=Temp.: 15C, Absolute Pressure: 101.3kPa.
M.S.C= frAERERIES (15°CRK101.3kPadixtE S )

ANR=Temp.: 20°C & Relative Humidity: 65%.
ANR=iRE: 20°CRIBZHRE: 65%

Equivalent(Z{E#H)
1 Psi=6.895 kPa=0.07kgt/cm?=0.06895 bar=0.0703 atm 1L=1000cm’=1.7598 pint=10°mm’
1 standard atmosphere=14.7 psi=101.3 kPa=1.01325 bar 1 tonne=1000kg=0.984 ton=2205 Ib
1 kgffcm?=98.07 kPa=14.22 psi=28.96 ins mercury I SBET

1 ft 10=0.13826 kgm=1.356 Nm

1 cu ft/min.=0.0283m?min=28.3 I/min
1 Pa=1 N/m?




